VARIABLES: INTRODUCTION (E-2)
CHALLENGE

Name:

Time: Score:

217)

10z — 7z + ((8x + 3z + 9z — 62)) 4+ 2x) — 3z =

218)

(((6x 4+ 0z) —3x))+3z+ ((r —z) — (3x — 3x)) =

219)

(4r x 1) + (8x — 62) + ((((10x + 8x) + (92)))) x 10z =

220)

(22 — 0z) + (22 + 10x + ((4x + 5 — 8x) — x)) =

221)

(487 + 6) X (z + 0z + (4z) — ((35z = 5) — 6z)) =

222)

(3 x 1) — (32 — 32) =+ (32 + 72))) — 3z) = (22) =

223)

(2 — 0x +2x X (0x + 0z =+ ((8x + x))) X 8x) =

224)

2z x 1 —2x) + ((6z — 0z = (6z) + (9x)) + 7Tx) =
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